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Math 20  
OLD PRACTICE EXAM  (2.3-3.3)
Name  _______________________________________

This is a “no calculator” exam.  Always show enough work to show how you arrived at your answer.  If work is not shown on, you may not earn full credit for the problem.  Work may include graphs, computations, and/or reasoning.  Work should be organized so that the steps can be followed in order, from start to finish.

1. 
Use the graph on the right to answer the following:
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b.
Use the definition of continuity to explain 




why the function is NOT continuous at 
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c.
Give three x-coordinates where f  NOT differentiable?  Give a reason for each.  
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2. 
Suppose 
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3.  `
Evaluate each of the following limits.  Use 
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 and 
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 where appropriate.
(4 points each)


a.  

[image: image12.wmf]2

2

4

54

lim

34

x

xx

xx

®-

++

+-





b.  
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c.  
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4.  
Give the definition of the derivative of a function f at 
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5.
Use the definition of the derivative to show that the derivative of 
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6. 
Use the Intermediate Value Theorem to prove that the equation 
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 has a root in the interval (0, 3). 
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7. 
Find an equation of the line tangent to the graph of
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 at x = 1. 
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8.
The graph of a function f is shown at the right.

(2 pts)
a.
For which x values is 
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(2 pts)
b.
On which intervals is 
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(4 pts)
c.
Of the graphs shown below determine which is the graph of the derivative of f?



Briefly explain your choice.


Graph _____



Graph A
Graph B
Graph C
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9.
Find each derivative.
(4 points each)


a.
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10.
Find each derivative.
(6 points each)


a.
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b.
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c.
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